
COL

1/2"  MIN. GAP

3" TYP.

(2)3/4" DIA. BOLTS, TYP.
(SEE NOTE#3)

6" x 1/2" x 0'-6" STABILZER
PLATE, TYP.

L4x4x3/8 x COLUMN WIDTH x 2
w/(2)3/4" DIA. BOLTS (SEE
NOTE#3)

JOIST, SEE PLAN

1/2" CAP PLATE, TYP.

CONDITION AT TOP
OF COLUMN (U.NO.)

CONDITION WHERE COLUMN
IS CONTINUOUS

NOTES:

1. DO NOT WELD BOTTOM CHORD
TO STABILIZER PLATE.

2. HSS COLUMN SHOWN - FOR WIDE
FLANGE COLUMN USE SAME SIZE
AND LENGTH FILLET WELDS, 
APPLY TO EACH FLANGE

5/16

5/16
TYP.

3. PROVIDE 1/2"DIA BOLTS AT 'K'-SERIES
JOISTS

1 1/2" TYP.

2 1/2"

COL (2)3/4"Ø BOLTS (TYP)
SEE NOTE#2

NOTES:

1. DO NOT WELD ANGLES
TO STABILIZER PLATE.

2. PROVIDE 1/2"DIA BOLTS AT 'K'-SERIES
JOISTS

BEAM - SEE PLAN

6" x 1/2" x 0'-6"
STABILIZER PL (TYP)

(2)L2x2x1/4 - (SEE NOTE#1)

3" MIN.

FULL
AVAILABLE

EXTENT

PROVIDE L2 1/2X2 1/2X1/4
CONT - WELD TO EA JOIST

MTL DECKING
SEE PLAN

BEAM - SEE PLAN

JOIST -
SEE PLAN

JOIST -
SEE PLAN

2

2nd level
13' - 7"

PLAN
EOD SEE

CONT. GALV. 
POUR STOP

BEAM - SEE PLAN

SLAB-ON-DECK
SEE A1/SF-100

SLAB REINFORCING
SEE A1/SF-100

RADIANT HEAT PIPES
COORD.w/MECH. DWGS.

CFM BY OTHERS

CONT. L5x5x3/8 
RELIEVING ANGLE 

WELDED TO CONT. 
BENT PL

OR 8 1/4"
6 1/4"

CONT. BENT PL 5" x 
(7" or 9") x 1/2" (LLH)

1/4 6@12

1/4 6@12

A

2nd level
13' - 7"

SLAB-ON-DECK
SEE A1/SF-100

SLAB REINFORCING
SEE A1/SF-100

RADIANT HEAT PIPES
COORD.w/MECH. DWGS.

5"

CONT. L5x5x3/8
EDGE ANGLE (TYP)

2
 1

/2
"

1/8 2

1/8 2
TYP

1/8

ACROSS EACH
FLANGE

GALV LINTEL:
L6x4x3/8 (LLV) (TYP)
BEAR 8" EACH END

L4x4x3/8 ANGLE
AT WINDOW HEAD

(TYP)

1
/2

"
1
/2

"

CONT. L5x5x3/8
ANGLE AT WINDOW

(TYP)

L3x3x1/4 ANGLE BRACE AT 
4'-0"O.C. (ALIGN w/NEAREST 
JOIST)

HSS 4x4x3/8 VERTICAL TIE 
w/CAP PL @ 4'-0"O.C.

HSS 8x6x3/8 BETWEEN COLUMNS
AT WINDOW HEAD (TYP)

NOTE: TYPICAL AT FULL 
HEIGHT WINDOW ASSEMBLIES 
- SEE ARCH. DWGS. FOR HEAD 
HEIGHT ELEVATIONS TYP.

5"SQ x 1/4" PL (TYP)

5
0
° M

A
X

V
A
R

IE
S

2
2
° M

IN
 -

PROVIDE 
HSS 2 1/2"x2 1/2"x5/16"
FOR DECK SUPPORT

CONCRETE SLAB-ON
-DECK - SEE PLAN

BEAM - SEE PLAN

COL

PLAN
EOD SEE

CONT. GALV. POUR STOP

1/4 3@12

BEAM - SEE PLAN

SLAB-ON-DECK
SEE PLAN

CONT. L3x3x3/8 w/HILTI ROD (SEE
SCHEDULE) SET IN HILTI HIT-HY70 
ADHESIVE (AT STAIR TOWER - INSTALL
AT BEAM BOTTOM FLANGE)

CONT. 1/2" ISLOATION JOINT
AND SEALANT

16" DEEP BOND
BEAM, TYP. w/(2)
#6 BARS CONT.

REINF. SEE NOTES
SHEET S000

1/4 4@12

SHEAR STUD - SEE SCHEDULE

EMBED
5 1/2"

3"

FLOOR 
LEVEL

FASTENER (HILTI ROD)
ANGLE TO CMU BOND BEAM

SHEAR STUD ON BEAM
3/4"Ø x 3"

STAIR TOWER
3/4"Ø @ 32"O.C. (MAX.) 

INSTALL AT BEAM BOTTOM 
FLANGE

-

MAIN ROOF 3/4"Ø @ 32"O.C. (MAX.) (1) @ 12"O.C.

FOURTH 3/4"Ø @ 24"O.C. (MAX.) (1) @ 6"O.C.

THIRD 3/4"Ø @ 24"O.C. (MAX.) (2) @ 6"O.C.

SECOND 3/4"Ø @ 12"O.C. (MAX.) (2) @ 6"O.C.

FASTENER SCHEDULE

NOTE: TYPICAL ALL FOUR SIDES OF ELEVATOR.  OMIT 
ANGLE AT ELEVATOR DOORWAY ONLY.  SLAB AND SHEAR 
STUDS NOT APPLICABLE AT TWO SIDES (LINES H AND 4)

BEAM - SEE PLAN

SLAB-ON-DECK
SEE PLAN

#4 @ 12"O.C. BENT BARS
(3) MIN. 18" EACH LEG

16" DEEP BOND
BEAM, TYP. w/(2)
#6 BARS CONT. 

(MAINTAIN 8" MIN. AT 
DOORWAY)

REINF. SEE NOTES
SHEET S000

3"

ELEVATOR DOOR 
AND SUPPORT BY 

OTHERS

H

2nd level
13' - 7"

BEAM - SEE PLAN

WEB STIFFENER -
EACH SIDE

1/2" BASE PLATE
(5 1/2" x 11") w/(4)
1/2"Ø A325 BOLTS

WALL FINISHES -
SEE ARCH. DWGS.

3
"

3
"4
 1

/2
"

3/8" x 5 1/2"SQ CAP
PLATE

(2) 4 1/2" x 3/8" x 5 1/2" PLATES
(1) w/LONG-SLOTTED VERTICAL

HOLES

(2)3/4"Ø A325 BOLTS

NOTE: SECOND LEVEL SHOWN - DETAIL APPLICABLE AT 3RD, 
4TH AND MAIN ROOF

CONT. L5x5x3/8 RELIEVING 
ANGLE WELDED TO CONT. 

BENT PL AT SECOND FLOOR 
ONLY

A

4th level
36' - 8"

SLAB-ON-DECK
SEE A1/SF-100

CONT. L5x5x3/8
EDGE ANGLE (TYP)

1/8

ACROSS EACH
FLANGE

L4x4x3/8 ANGLE
AT WINDOW HEAD

(TYP)

CONT. L5x5x3/8
ANGLE AT WINDOW

(TYP)

L3x3x1/4 ANGLE BRACE ALIGN WITH 
VERTICAL WINDOW MULLION

HSS 4x4x3/8 VERTICAL TIE w/CAP PL
@ 4'-0"O.C.

HSS 8x6x3/8 BETWEEN COLUMNS
AT WINDOW HEAD (TYP)

1
/2

"

1
/2

"

NOTE: TYPICAL AT FULL HEIGHT 
WINDOW ASSEMBLIES - SEE 
ARCH. DWGS. FOR HEAD 
HEIGHT ELEVATIONS TYP.

2
2
.0

0
°

SEE PLAN
EOD

CHANNEL - SEE PLAN
FRAME TO SUPPORT w/
L5x5x5/16 x 0'-6" LONG
SIM. TO DETAIL A9/S001

A

3rd level
25' - 2"

SLAB-ON-DECK
SEE A1/SF-100

CONT. L4x4x3/8
EDGE ANGLE

1/8

ACROSS EACH
FLANGE

L4x4x3/8 ANGLE
AT WINDOW HEAD

(TYP)

CONT. L5x5x3/8
ANGLE AT WINDOW

(TYP)

L3x3x1/4 ANGLE BRACE AT 4'-0"O.C. 
(ALIGN w/NEAREST JOIST)

HSS 4x4x3/8 VERTICAL TIE w/CAP PL
@ 4'-0"O.C.

HSS 8x6x3/8 BETWEEN COLUMNS
AT WINDOW HEAD (TYP)

NOTE: TYPICAL AT FULL 
HEIGHT WINDOW ASSEMBLIES 
- SEE ARCH. DWGS. FOR HEAD 
HEIGHT ELEVATIONS TYP.

1
/2

"

1
/2

"

5"SQ x 1/4" PL (TYP)

5
0
° M

A
X

V
A
R

IE
S

2
2
° M

IN
 -

SEE PLAN
EOD

Allied Engineering
Structural  Mechanical   Electrical  Commissioning

160 Veranda Street

Portland, Maine 04103

T:207.221.2260

F:207.221.2266
Web:www.allied-eng.com

GAWRON ARCHITECTS IS PROHIBITED

COPYRIGHT 1985-2017

WRITTEN PERMISSION OF
THIS DOCUMENT WITHOUT
REPRODUCTION OR REUSE OF

C

DRAWN BY:

DRAWING SCALE

CHECKED BY:

DATE:

PROJECT #

# DESCRIPTION

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

B
C

D
E

G
F

H
J

L
K

M
N

P
O

Q
R

201

A

SHEET TITLE

REVISIONS
DATE

AEI PROJECT NO.: CAD FILE:

AS NOTED

- PERMIT SET09.14.17

9
/1

5
/2

0
1
7
 7

:3
3
:4

7
 A

M

SF500

WPF

PED

010416

09.14.17

STRUCTURAL -
DETAILS 1

cP
or

t C
re

di
t U

ni
on

5
0
 I
n
d
ia

 S
tr
e
e
t

P
o
rt
la

n
d
, 
M

a
in

e

P
E
D

16025_S.rvt16025

 3/4" = 1'-0"

L16 TYPICAL TIE-JOIST TO COLUMN DETAIL

 3/4" = 1'-0"

L11 TYPICAL TIE-JOIST TO BEAM DETAIL

 1" = 1'-0"

F16 TYPICAL DECK CHANGE IN DIRECTION

 3/4" = 1'-0"

L6 DETAIL

 1" = 1'-0"

L1 DETAIL

 1" = 1'-0"

F11 DECK SUPPORT AT DROPPED BEAM

 1" = 1'-0"

A11 ANGLE TO CMU AT BEAM

 1" = 1'-0"

A7 DETAIL AT ELEVATOR DOOR

 1" = 1'-0"

F7 DETAIL

 3/4" = 1'-0"

A1 DETAIL

 3/4" = 1'-0"

F1 DETAIL


	Sheets
	S000 - STRUCTURAL - GENERAL INFORMATION-1
	S001 - STRUCTURAL - GENERAL INFORMATION-2
	SB100 - STRUCTURAL - PILE PLAN
	SB101 - STRUCTURAL - FOUNDATION PLAN
	SB500 - STRUCTURAL - FOUNDATION DETAILS
	SB501 - STRUCTURAL - FOUNDATION DETAILS
	SF100 - STRUCTURAL - SECOND AND THIRD FLOOR FRAMING PLANS
	SF101 - STRUCTURAL - FOURTH FLOOR AND MAIN ROOF FRAMING PLANS
	SF102 - STRUCTURAL - STAIR TOWER AND ELEVATOR ROOF FRAMING PLAN
	SF200 - STRUCTURAL - SEISMIC LOAD RESISTANCE SYSTEMS SCHEMATICS
	SF500 - STRUCTURAL - DETAILS 1
	SF501 - STRUCTURAL - DETAILS 2


